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HY=E 121&(g) Z=22(kcal) CA()] G HIE(%)
HFLHL 32 26.88 4.68 40.3%
StAHEt 7 20.93 1.74 15.0%
HAEIETE 32 52.51 5.21 44.8%
32l 13 49.40 0.00 0.0%

3 84.1 149.72 11.63 100.0%
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Y=y 121&(qg) Z=z2|(kcal) A ()] G HIZ(%)
Al 20 55.80 0.82 5.4%
EE 15 20.40 0.03 0.2%
29 40 26.00 1.65 10.9%
HHE] 1 7.61 0.05 0.3%
24 8 30.96 7.98 52.8%
EN= 0.15 0.00 0.00 0.0%

Aot 0.3 1.03 0.00 0.0%

HHLHLE 20 16.80 2.93 19.4%
St 1.8 6.82 1.62 10.7%
EHE 1 7.61 0.05 0.3%
3 107.3 173.03 15.12 100.0%
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Fid 2 4kg
O 437 1.2kg
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2R 40 26.00 1.65 15.0%
REL 12 45.60 0.00 0.0%
29 8 30.96 7.98 72.6%
Azl 0.8 3.05 0.69 6.3%
BXEXE 5 3.60 0.68 6.2%

8 65.8 109.21 10.99 100.0%
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Y=Y 121&2(g) Z=22|(kcal) L (¢) 2 HIZ(%)
72 40 85.20 0.04 1.0%
HE] 15 11.42 0.07 2.0%
R=1 10 26.10 3.40 97.0%
et 51.5 122.72 3.51 100.0%
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1. 77| 2HESS HIE0| 210 USO T =lCt

2. F3|Lt 7 |Et F2HSE 2ol 22 TAelCt.

L 1012(g)  Z=alkea)  YR@  LHIE®%)
Ctouk 25 14.25 1.19 15.0%
= IZPNES 18 63.00 0.68 8.5%
QHE 8.5 7.57 0.39 4.9%
II:_|-§I:_I!-xI 5 ;.“0 I i NEL! 13 49.40 0.00 0.0%
=y 5 19.35 499 62.9%
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MH=Y/M=2ZH(10021E)
O BILILHES) 6kg

O Y1(d3) 1.2kg

O ORIHE(HS) kg
O 22& 5009

O & 300g
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2 HLILY, S22, 2t=H2|SS A=t

3. 2{2f9 AASS H0{M 02 IHX| ARLIS

=Lt

=Y 1212(g) U=2|(kcal) 23(9) 2 HIZ(%)
HHLHLH( S S) 60 50.40 8.78 63.7%
LI (AE) 12 7.32 1.64 11.9%
OIRIoHE(HE) 10 5.30 1.03 7.4%
=S 5 1.30 0.16 1.1%
= 3 8.82 2.18 15.8%
=3 90.0 73.14 13.78 100.0%
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=Y 191£(g) 22| (kcal) 2=(g) 2 HIZ(%)
e, 50 42.00 7.32 53.7%
AIAH 5 13.83 3.18 23.3%
IS E] 4 26.32 0.38 2.8%
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HO [o)
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L ! , NEE 7 26.60 0.00 0.0%
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| QRIES TIOMRL 0.5 2.12 0.28 2.0%
=3t 166.5 149.86 13.62 100.0%
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1. 0|21 2L SR E H8oIt
2. EHo=2 = X2|E2(0f Al2|H0|Lt HEet TXEE XH0|E st
=y 1212(g) Z=22|(kcal) =L (6)) & HIZ(%)
s 6 23.88 0.06 0.5%
PF 90 58.50 3.71 30.9%
ofo|A32 20 35.80 3.46 28.8%
o3 40 0.00 0.00 0.0%
AR 8 28.88 415 34.5%
ZE|Z(A2IY) 1.6 6.05 0.63 5.3%
C3 165.6 153.11 12.01 100.0%
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O O |® 22 5009
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=Y 191£(g) 22| (kcal) =2=(g) 2 HIZ(%)
EHE] 2 15.22 0.09 1.2%
OARZL 5 16.30 3.06 38.2%
Al2|E 12 45.36 4.75 59.3%
HE=EN 2 11.34 0.10 1.3%
=th 21.0 88.22 8.00 100.0%




= MERK|, AF, EI2ES2| 7|= H|0|A7t 2l= M =O|Ct.
2HH|L} E210|F, HESX[SO 28ttt

MEY/M2ZH(100212)
O ¥Z 1.5kg

O #lE&& 1kg

O Y=HAE 15g

O 2% 1kg

O HE 6509

ra
In
rir
oX
oE

my
1o
I
M
il
b
k1

(in
2 nx
4%
<

® ©
e o
N
=

Zol| gl2s2
@ HH|of ‘20 HEI|= F X{of7tH FQlCk.
@ H2HEI} AESK|H HEIE X2 M Hof
HE{?} Ct oM 22 BCt

CQ|X|of| Ef=n nele 221 Alis =
o

1 Al =
2. 4ZHERI QHES 111 HIZZ M nES

S
ZNY2HAE, 228 =Lt

=y 1212(g) Z=2|(kcal) 2=(9) F HIZ(%)
=Y 14 19.43 0.03 0.3%
H2E 10 2.60 0.31 2.9%
=X AE 0 0.00 0.00 0.0%
A5 10 38.70 9.97 94.0%
HE] 6 48.92 0.30 2.8%
=1 0 0.00 0.00 0.0%

¢ 41.0 109.65 10.61 100.0%
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